CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F CURTIS STREET SANITARY SEWER REPLACEMENT PROJECT NO. 12-2007 / CIP NO.50876

MAY 23, 2014

ORIGINAL CONTRACT AMOUNT: \$51,322.00 CONTRACTOR: MAINLINE CONTRACTING INC

LINE			CURRENT CONTRACT	UNIT	EXTENDED	ADJUSTED	ADJUSTED	
ITEM	DESCRIPTION	UNIT	QUANTITY	PRICE	PRICE	QUANTITY	PRICE	NET CHANGE
1	MOBILIZATION	LS	1.00	\$8,500.00	\$8,500.00	1.00	\$8,500.00	\$0.00
2	INCIDENTAL	LS	1.00	\$3,200.00	\$3,200.00	1.00	\$3,200.00	\$0.00
3	REMOVE MANHOLE	EA	1.00	\$600.00	\$600.00	1.00	\$600.00	\$0.00
4	REMOVE & SALVAGE MANHOLE AND DISPOSE OF BASE	EA	1.00	\$650.00	\$650.00	1.00	\$650.00	\$0.00
5	REMOVE AC PAVEMENT	SY	304.00	\$4.20	\$1,276.80	262.00	\$1,100.40	(\$176.40)
6	REMOVE CONCRETE CURB & GUTTER	LF	10.00	\$2.00	\$20.00	0.00	\$0.00	(\$20.00)
7	REMOVE PCC SIDEWALK	SF	50.00	\$0.50	\$25.00	0.00	\$0.00	(\$25.00)
8	TYPE I BEDDING MATERIAL	Т	25.00	\$16.00	\$400.00	0.00	\$0.00	(\$400.00)
9	TYPE II BEDDING MATERIAL	T	25.00	\$16.00	\$400.00	0.00	\$0.00	(\$400.00)
10	8" PVC SEWER MAIN (0'- 6')	LF	29.00	\$43.00	\$1,247.00	29.00	\$1,247.00	\$0.00
11	8" PVC SEWER MAIN (6'- 8')	LF	70.00	\$44.00	\$3,080.00	70.00	\$3,080.00	\$0.00
12	8" PVC SEWER MAIN (8'-10')	LF	65.00	\$46.00	\$2,990.00	65.00	\$2,990.00	\$0.00
13	4" PVC SEWER SERVICE LINE	LF	5.00	\$27.00	\$135.00	6.00	\$162.00	\$27.00
14	STANDARD MANHOLE, 48"	EA	1.00	\$2,750.00	\$2,750.00	1.00	\$2,750.00	\$0.00
15	EXTRA MANHOLE DEPTH, 48"	VF	3.40	\$325.00	\$1,105.00	3.40	\$1,105.00	\$0.00
16	CONNECT TO EXISTING SEWER MAIN	EA	2.00	\$1,100.00	\$2,200.00	2.00	\$2,200.00	\$0.00
17	RECONNECT SEWER SERVICE	EA	1.00	\$350.00	\$350.00	1.00	\$350.00	\$0.00
18	REPLACE MANHOLE BASE & REINSTALL LID, CHIMNEY SEAL, ADJUSTING RINGS AND FRAME & COVER	EA	1.00	\$2,200.00	\$2,200.00°	1.00	\$2,200.00	\$0.00
19	BYPASS PUMPING	LS	1.00	\$1,100.00	\$1,100.00	1.00	\$1,100.00	\$0.00
20	GRAVEL FILLED FILTER BAG	LF	24.00	\$5.55	\$133.20	0.00	\$0.00	(\$133.20)
21	ROCK CONSTRUCTION ENTRANCE	EA	1.00	\$500.00	\$500.00	0.00	\$0.00	(\$500.00)
22	EROSION CONTROL, INLET PROTECTION	EA	2.00	\$125.00	\$250.00	2.00	\$250.00	\$0.00
23	AGGREGATE BASE COURSE, 1"	Т	110.00	\$28.00	\$3,080.00	88.65	\$2,482.20	(\$597.80)
24	TEMPORARY	Т	20.00	\$28.00	\$560.00	0.00	\$0.00	(\$560.00)

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
25	AC, CLASS G, TYPE 1 PG64-28	Т	90.00	\$133.00	\$11,970.00	78.00	\$10,374.00	(\$1,596.00)
26	CONCRETE CURB & GUTTER, TYPE B6-6	. LF	10.00	\$40.00	\$400.00	0.00	\$0.00	(\$400.00)
	CONCRETE SIDEWALK, 4" NONREINFORCED	SF	50.00	\$13.00	\$650.00	0.00	\$0.00	(\$650.00)
28	TRAFFIC CONTROL	LS	1.00		\$1,550.00			\$0.00
	TOTAL				\$51,322.00		\$45,890.60	(\$5,431.40)

C.C.O. HISTORY INCREASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE :	\$51,322.00
CCO #1F	(\$5,431.40)	NET INCREASE/(DECREASE):	(\$5,431.40)
,	\$0.00	ADJUSTED CONTRACT PRICE:	\$45,890.60
	\$0.00	CHANGE TO DATE:	(\$5,431.40)

0 40				<u> </u>
faith_				5/20/2014
CONTRACTOR: MAININE CONTRACTING	GINC ,		 	5/20/pf
PROJECT MANAGER: KLARE SCHROED	ER, P.E.			DATE
Janu Mm			•	5-20-14
CITY ENGINEER: DALE TECH, P.E. / L.S.				DATE
· 				·
MAYOR: SAM KOOIKER				DATE
		•		·
FINANCE: PAULINE SUMPTION			 	DATE
CONTRACT TIME CHANGE +/-: 0	NEW CONTRACT TIME:	Days	 	

City Staff recommends approval of this Change Order #1F to Mainline Contracting Inc. for a decrease of \$5,431.40 based on unit pricing with the following appropriation:

anitary Sewer 0833					
0833					
0000					
4380					
0604					
(\$5,431.40)			· ·		(\$5,431.40)
					\$0.00
					\$0.00
\$45,890.60	\$0.00	\$0.00	\$0.00	\$45,890.60	\$45,890.60
	(\$5,431.40)	(\$5,431.40)	(\$5,431.40)	(\$5,431.40)	(\$5,431.40)

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F CURTIS STREET SANITARY SEWER REPLACEMENT PROJECT NO. 12-2007 / CIP NO.50876

MAY 23, 2014

ORIGINAL CONTRACT AMOUNT: \$51,322.00 CONTRACTOR: MAINLINE CONTRACTING INC

LINE						
ITEM	DESCRIPTION	REASON FOR CHANGE				
5	REMOVE AC PAVEMENT	Actual quanitity used to complete the project.				
	REMOVE CONCRETE CURB &					
6	GUTTER	None were needed to complete the project.				
7	REMOVE PCC SIDEWALK	None were needed to complete the project.				
8	TYPE I BEDDING MATERIAL	None were needed to complete the project.				
9		None were needed to complete the project.				
13	4" PVC SEWER SERVICE LINE	Actual quanitity used to complete the project.				
20	GRAVEL FILLED FILTER BAG	None were needed to complete the project.				
		None were needed to complete the project.				
23	AGGREGATE BASE COURSE, 1"	Actual quanitity used to complete the project.				
24		None were needed to complete the project.				
25	AC, CLASS G, TYPE 1 PG64-28	Actual quanitity used to complete the project.				
	CONCRETE CURB & GUTTER,					
26	TYPE B6-6	None were needed to complete the project.				
	CONCRETE SIDEWALK, 4"					
27	NONREINFORCED	None were needed to complete the project.				

PREPARED BY: Klare Schroeder, P.E.

DATE: May 23, 2014

	FUNDING TYPE Sanitary Sewer			
	COST CENTER	0833		
	LINE ITEM	43	80	
	FUND	0604		
		AAAO: INT	PERCENT	
ITEM NO.	DESCRIPTION OF ITEM	AMOUNT	PERCENT	
1	MOBILIZATION	0.00	100%	
2	INCIDENTAL	0.00	. 100%	
3	REMOVE MANHOLE	0.00	100%	
4	REMOVE & SALVAGE MANHOLE A	0.00	100%	
5	REMOVE AC PAVEMENT	-176.40	100%	
6	REMOVE CONCRETE CURB & GUT	-20.00	100%	
7	REMOVE PCC SIDEWALK	-25.00	100%	
8	TYPE I BEDDING MATERIAL	-400.00	100%	
9	TYPE II BEDDING MATERIAL	-400.00	100%	
10	8" PVC SEWER MAIN (0' 6')	0.00	100%	
11	8" PVC SEWER MAIN (6'- 8')	0.00	100%	
12	8" PVC SEWER MAIN (8'-10')	0.00	100%	
13	4" PVC SEWER SERVICE LINE	27.00	100%	
14	STANDARD MANHOLE, 48"	0.00	100%	
15	EXTRA MANHOLE DEPTH, 48"	0.00	100%	
16	CONNECT TO EXISTING SEWER M	0.00	100%	
17	RECONNECT SEWER SERVICE	0.00	100%	
18	REPLACE MANHOLE BASE & REIN	0.00	100%	
19	BYPASS PUMPING	0.00	100%	
20	GRAVEL FILLED FILTER BAG	-133.20	100%	
21	ROCK CONSTRUCTION ENTRANC	-500.00	100%	
22	EROSION CONTROL, INLET PROTE	0.00	100%	
23	AGGREGATE BASE COURSE, 1"	-597.80	100%	
24	GRAVEL SURFACING, TEMPORAR	-560.00	100%	
25	AC, CLASS G, TYPE 1 PG64-28	-1,596.00	100%	
26	CONCRETE CURB & GUTTER, TYP	-400.00	100%	
27	CONCRETE SIDEWALK, 4" NONRE	-650.00	100%	
28	TRAFFIC CONTROL	0.00	100%	
		(\$5,431.40)		